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If a = 3  and  u = -1 ,then the 

covered distance during the time 

interval [ 0 , 2 ] = … length unit 
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If a particle moves in a straight 

line with a uniform velocity  

under the action of the two  

forces        =                   , 

                 =                   
,then                  
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 مق ار   ف نن  بامثاني ة  ن ، ب امتر   ةمقاس   ف ،

ه      ب    امني    عني      رمت         رمق      

iii  

 

a body of mass            kg 

moves in a straight line .if its 

displacement vector is written as  

a function in time by the relation  

   = ( 
 

 
                where s is 

measured in meter ,t is measured 

in second ,then the magnitude of 

the force act on it is …..newton 
  

 
3. 

2  +3 2t + 3  ⓐ 

22  +3 12t + 3 ⓑ 

22  +23 12t + 13  ⓒ 

6  +23 6t + 13 ⓓ 

 

 

 



5  

 

 If body moves on an included 
plane under the effect of its 
weight only, then its 
acceleration depends on ……….. 

4. 

 its mass ⓐ كرنر 
 its weight ⓑ وزن 

 the inclination angle of the زروية ميل رمتسر ى
plane 

ⓒ 

 the reaction of the plane ⓓ  د فعل رمتسر ى
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If the two forces 

        =                  , 

       =                  

measured in Newton act on 
a body for a period of time 
equals 2 sec, then the 
magnitude of the impulse of 
the forces in Newton. Sec 
equals ……….. 

 
5. 
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If a body moved in a straight 
line from the point          
to the point         under 
the effect of the force 

        =            , then the work 
done by this force equals   
………. Work unit.  
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 -4 ⓐ 

 Zero ⓑ 

 40 ⓒ 

 80 ⓓ 
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If a body of mass 30 gm is let to  

fall from a height 10 m above the 

ground, then its kinetic energy 

when it is about to collide with the 

ground equals …… joule. 

 
7. 

0.294 ⓐ 

 29.4 ⓑ 

 2.94 ⓒ 

 294 ⓓ 
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A man of mass 50 kg ascends a 

stairs of a tower of height 441 m, 

in 15 min, then the average power 

for him in watt equals ……… 

 
8. 

 240.1 ⓐ 
 490 ⓑ 

 144.6 ⓒ 
 2401 ⓓ 
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A body whose mass equals the 
unity moves under the effect of a 

force     = 5     .if its velocity vector 
    = (                    , then 
      …………  
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 A lift of mass 4 ton moves  
with uniform velocity. if the 
tension in the string carrying 
 it equals 6 tom.wt , then the 
mass of the body inside the 
 lift = ……. Ton. 

 

10. 
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 6 ⓒ 

 2 ⓓ 
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In the opposite figure: 
The presser on 
the axis of the 
pulley equals 
………. Kg.wt 
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Two bodies are connected by the 
ends of a light string passing over a 
smooth fixed pulley .If the vertical 
distance between them after 2 sec 
from the beginning of the motion 
equals 144 cm ,then the velocity of 
each of the two bodies at this 
instance equals ……………. cm/sec 

 
12. 
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 72 ⓒ 

 114 ⓓ 
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A rubber ball of mass 
 

 
  kg fell 

down from a height of 10 meters 
above the ground and rebounded 
after collided with the ground for 
a height of 2.5 meters. Find the 
impulse resulted from the collision 
(impact) of the ball with the  
ground and identify the reaction  
of the ground on the ball if the 
contact time of the ball with the 

ground is 
 

  
  of second. 

13. 
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Two bodies of masses 350 gm, and  
m gm are connected by the ends of 
 a string passing over a smooth small  
pulley and suspended vertically. The 
system moves from rest when the two 
masses are in a horizontal plane and 
 the pressure on the axis of the pulley  
is 200 gm.wt. Find the value of m  
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A body of mass 63 gm is placed on a 
rough horizontal table and connected 
by a horizontal string passing over a 
smooth small pulley fixed at the edge  
of the table. Another body of mass 35 
g at a height of 280 cm above the 
ground is connected by the other end 
of the string. If the coefficient of the 
kinetic friction between the body and 

the plane is equal to 
 

 
, find the 

velocity by which the mass 35 gm 
reaches the ground surface and the 
distance that the mass63 gm moves 
until it rests 
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Two smooth balls; the mass of the first 

is 50 gm, the mass of the second is 40 

gm, the displacement of the first is 
        = 300 t      and the displacement of 

the second is   
     = - 150 t      where    is 

measured in cm and timed in second.  

If the two balls collide and form one  

body directly after collision, calculate 

the common velocity of this body, then 

calculate the force of pressure between 

the two balls if the collision time is 
 

 
 of 

a second. 

16. 
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The following figure illustrates the 
action of a variable force on a body, 
calculate the total work done by this 
force in the following cases: 
First: from S = 0 to S = 10 
Second: from S = 8 to S = 14 
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رمث  رن    خ ل     

 رمتب وو   رمش لل  أوج ا       رلأوم    رم ثل  

 رم ربعة. رمثانية خل 

 

If the power of an engine at any 

time measured in seconds is equal 

to (9t2 + 4t), find the work 

done by the engine during the first 

three minutes, then find the work 

done during the fourth second. 

18. 
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A cyclist and the bike of mass 98 kg 

move on a rough horizontal ground 

from rest to reach the maximum 

velocity of magnitude 7.5 m/sec 

after time of magnitude 1 minute 

when the cyclist stop peddling. The 

bike gets rested after it traveled a 

distance of magnitude 15 m. 

Calculate the maximum power for 

the cyclist during this trip.  

19. 
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فأوجا ح كة   

 رمجس  عناما يصل إم  قاعا  رمتسر ى.
 

A body of mass 60 kg ascends from 
rest on the line of the greatest slope 
to an inclined plane of length 20 m 
and height 12 m. If the body starts 
its motion from the highest point 
on the plane and the kinetic 
coefficient of friction between the 

body and the plane is 
 

  
  , find the 

kinetic energy of the body when it 
reaches the plane base. 

20. 
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